Transfers Report

This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 8 - Montrose and District

5,049 4 1,010

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Jamie ADAMS	Scottish Green Party	180
James BOAG	Independent	61
Kenny BRAES	Scottish National Party (SNP)	1,090
Bill DUFF	Scottish National Party (SNP)	894
lain GALL	Scottish Conservative and Unionist	1,124
Angela Jocelyn NOBLE	Scottish Liberal Democrats	139
John RUDDY	Labour and Co-operative Party	330
Mark SALMOND	Independent	499
Tommy STEWART	Independent	732
	Total	5,049

Candidate Kenny BRAES Elected with 1,090 votes, being in excess of the quota of 1,010 Candidate Iain GALL Elected with 1,124 votes, being in excess of the quota of 1,010

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Iain GALL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jamie ADAMS	26	0.10142	2.63692
Transfer to James BOAG	46	0.10142	4.66532
Transfer to Bill DUFF	21	0.10142	2.12982
Transfer to Angela Jocelyn NOBLE	148	0.10142	15.01016
Transfer to John RUDDY	109	0.10142	11.05478
Transfer to Mark SALMOND	330	0.10142	33.46860
Transfer to Tommy STEWART	166	0.10142	16.83572
No further preference	278	0.10142	28.19476
Not transferred due to rounding			0.00392
	Total		114.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Kenny BRAES

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jamie ADAMS	35	0.07339	2.56865
Transfer to Bill DUFF	949	0.07339	69.64711
Transfer to Angela Jocelyn NOBLE	14	0.07339	1.02746
Transfer to Mark SALMOND	21	0.07339	1.54119
Transfer to Tommy STEWART	19	0.07339	1.39441
No further preference	36	0.07339	2.64204
Not transferred due to rounding			0.00490
	Total		80.00000

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of James BOAG

66.17905

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jamie ADAMS	7	1.00000	7.00000
Transfer to Bill DUFF	6	1.00000	6.00000
Transfer to Angela Jocelyn NOBLE	8	1.00000	8.00000
Transfer to John RUDDY	2	1.00000	2.00000
Transfer to Mark SALMOND	18	1.00000	18.00000
Transfer to Tommy STEWART	12	1.00000	12.00000
Transfer to Jamie ADAMS	1	0.10142	0.10142
Transfer to Bill DUFF	2	0.10142	0.20284
Transfer to Angela Jocelyn NOBLE	4	0.10142	0.40568
Transfer to John RUDDY	5	0.10142	0.50710
Transfer to Mark SALMOND	16	0.10142	1.62272
Transfer to Tommy STEWART	9	0.10142	0.91278
Transfer to Jamie ADAMS	1	0.07339	0.07339
Transfer to Bill DUFF	2	0.07339	0.14678
Transfer to Mark SALMOND	2	0.07339	0.14678
No further preference	8	1.00000	8.00000
No further preference	9	0.10142	0.91278
No further preference	2	0.07339	0.14678
Not transferred due to rounding			0.00000
	Total		66.17905

Report Name: Transfers_V0001_Ward-8---Montrose-and-District_06052022_150450.pdf Created: 06-5-2022 15:04:50

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Angela Jocelyn NOBLE

163.44330

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jamie ADAMS	15	1.00000	15.00000
Transfer to Bill DUFF	4	1.00000	4.00000
Transfer to John RUDDY	42	1.00000	42.00000
Transfer to Mark SALMOND	30	1.00000	30.00000
Transfer to Tommy STEWART	19	1.00000	19.00000
Transfer to Jamie ADAMS	12	0.10142	1.21704
Transfer to Bill DUFF	1	0.10142	0.10142
Transfer to John RUDDY	56	0.10142	5.67952
Transfer to Mark SALMOND	29	0.10142	2.94118
Transfer to Tommy STEWART	18	0.10142	1.82556
Transfer to Jamie ADAMS	4	0.07339	0.29356
Transfer to Bill DUFF	3	0.07339	0.22017
Transfer to John RUDDY	1	0.07339	0.07339
Transfer to Tommy STEWART	1	0.07339	0.07339
No further preference	37	1.00000	37.00000
No further preference	36	0.10142	3.65112
No further preference	5	0.07339	0.36695
Not transferred due to rounding			0.00000
	Total		162 44220

Total 163.44330

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Jamie ADAMS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Bill DUFF	81	1.00000	81.00000
Transfer to John RUDDY	33	1.00000	33.00000
Transfer to Mark SALMOND	24	1.00000	24.00000
Transfer to Tommy STEWART	24	1.00000	24.00000
Transfer to Bill DUFF	1	0.10142	0.10142
Transfer to John RUDDY	8	0.10142	0.81136
Transfer to Mark SALMOND	6	0.10142	0.60852
Transfer to Bill DUFF	20	0.07339	1.46780
Transfer to John RUDDY	3	0.07339	0.22017
Transfer to Mark SALMOND	7	0.07339	0.51373
Transfer to Tommy STEWART	2	0.07339	0.14678
No further preference	40	1.00000	40.00000
No further preference	24	0.10142	2.43408
No further preference	8	0.07339	0.58712
Not transferred due to rounding			0.00000
	Total		208.89098

Transfers Report

This report contains the transfers results.

Stage 7 - Surplus of Bill DUFF

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John RUDDY	149	0.04628	6.89572
Transfer to Mark SALMOND	161	0.04628	7.45108
Transfer to Tommy STEWART	133	0.04628	6.15524
Transfer to John RUDDY	7	0.00469	0.03283
Transfer to Mark SALMOND	4	0.00469	0.01876
Transfer to Tommy STEWART	3	0.00469	0.01407
Transfer to John RUDDY	121	0.00339	0.41019
Transfer to Mark SALMOND	141	0.00339	0.47799
Transfer to Tommy STEWART	133	0.00339	0.45087
No further preference	542	0.04628	25.08376
No further preference	11	0.00469	0.05159
No further preference	579	0.00339	1.96281
Not transferred due to rounding			0.01245
	Total		49.01736

Transfers Report

This report contains the transfers results.

Stage 8 - Exclusion of John RUDDY

433.34557

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mark SALMOND	102	1.00000	102.00000
Transfer to Tommy STEWART	84	1.00000	84.00000
Transfer to Mark SALMOND	48	0.10142	4.86816
Transfer to Tommy STEWART	27	0.10142	2.73834
Transfer to Mark SALMOND	3	0.07339	0.22017
Transfer to Tommy STEWART	1	0.07339	0.07339
Transfer to Mark SALMOND	49	0.04628	2.26772
Transfer to Tommy STEWART	25	0.04628	1.15700
Transfer to Mark SALMOND	3	0.00469	0.01407
Transfer to Tommy STEWART	2	0.00469	0.00938
Transfer to Mark SALMOND	34	0.00339	0.11526
Transfer to Tommy STEWART	17	0.00339	0.05763
No further preference	221	1.00000	221.00000
No further preference	103	0.10142	10.44626
No further preference	9	0.07339	0.66051
No further preference	75	0.04628	3.47100
No further preference	2	0.00469	0.00938
No further preference	70	0.00339	0.23730
Not transferred due to rounding			0.00000
			100.04557

Total 433.34557

Transfers Report

This report contains the transfers results.

Stage 9 - Exclusion of Mark SALMOND

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Tommy STEWART	442	1.00000	442.00000
Transfer to Tommy STEWART	237	0.10142	24.03654
Transfer to Tommy STEWART	16	0.07339	1.17424
Transfer to Tommy STEWART	140	0.04628	6.47920
Transfer to Tommy STEWART	4	0.00469	0.01876
Transfer to Tommy STEWART	113	0.00339	0.38307
No further preference	231	1.00000	231.00000
No further preference	192	0.10142	19.47264
No further preference	17	0.07339	1.24763
No further preference	70	0.04628	3.23960
No further preference	3	0.00469	0.01407
No further preference	62	0.00339	0.21018
Not transferred due to rounding			0.00000
	Total		729.27593